@ZE\“E @)»)») HK—br1=v b Support Units< BEX#> Flexible Support

FH, FF series qee® (012

nwvvy

2-¢S1%F Uil L

¢ S2JE 21 EHo (A )V 1 S)

d dn_r_—

(G AIRL ]

CaligsA)
w
L
%289 : FHY ) —X<Fik& BARL :mm
iy N 7 M M 74 ES % < % 7)) T [l 7 )
h 8| dwr | do H | H | L [¢.3 L | W S S, | S; | He FR-pbz=y b
FH6 13117 6|25| 2| 42|30 | 18|12 |M5 | 55| 95| 11 60627 SUH6
FH8 17 |17 | 6 | 32| 26| 52| 38 | 25|15 | M6 | 66[11 | 12 60627 SUHS
FH10 | 25 | 22 | 8 |43 |35 | 70| 52 | 36 | 20 | M8 | 9 |14 | 11 60827 SUH10
FH12 | 25 | 26 | 10 | 43 | 35 | 70| 52 | 36 | 20 | M8 | 9 |14 | 11 | 60002z SUH12
FH15 | 30 | 32 | 15 | 50 | 40 | 80| 60 | 41 | 20 | M8 | 9 |14 | 11 | 60022z SUH15
FH20 | 30 | 47 | 20 | 58 | 45 | 95| 75 | 56 | 26 |M10 |11 |17 | 15 | 62042z SUH20
FH25 | 35 | 52 | 25 | 68 | 25 | 105| 85 | 66 | 30 |M10 |11 | — | — | 62052z SUH25
364

4-¢S1F Vil L W (
S2/ Z71) % EHo ~ Eahsz

(AL bS)

- ATTE

Df| Dp| d @—— D

:H__J__

CIEIL® &
CRURAT)

%290 : FF ) —X5fiksk BT - mm
o AN A A 2 - S A S N7 ¥ EEN

dir | do | Dgs | Df [Dpeos| W t t. K S S, S | Ho FR-b21zy b
FF8 17 6 | 22 | 36 28 10 6 4 | 28 | M3 | 34 65| 4 60677 SUF8
FF10 22 8 | 28 | 43 Sb) 12 7 5|3 | M3 | 34 65| 4 60877 SUF10
FF12 26 | 10 | 34 | 52 42 15 7 8 | 42 | M4 | 45 8 4 600027 SUF12
FF15 32 | 15 | 40 | 63 50 17 9 8 | 52 | M5 | 5.5 95 || &5 600277 SUF15
FF20 47 | 20 | 57 | 85 70 20 11 9 | 68 | M6 | 6.6 |11 6.5 620477 SUF20
FF25 52 | 25 | 63 | 98 80 24 14 10 | 79 | M8 | 9 14 8.5 620577 SUF25

365



